Geometry Chapters 4, 6 Cumulative Review Name K Y

1. Use the figure below to solve for x.
(4x + 8)° 9x +S4 =Yx +8
54 =3x+%
Y= p
2. Describe the requirements for a triangle to be classified as acute, right, obtuse, or equiangular.

acute s all anyles acute
rightl on r Wt angle, dwo acute aw#es
e\o’cu'>¢ one obwse angle, Two acute awyles
Q_q/u-mauhr' all ”3‘“ v
3. Describe the requirements for a triangle to be classified as scalene, isosceles, or equilateral.
s q
Scdent’ no Sides &
150Stel 5. at least two Sides &

e_nv«'. (dten| : all sides &
4. Given: BC = AB

a. Solve for x.
Tx+5=0x-7 E’D
5= 3x _'y’,
2 = 3x
b. Is AABC equilateral? Explain your reasoning.
704)+5=33 [y, all sdes are 33 lomy) AS 100-7 B
g(4)+| =33
o (4)-71=33
5. If ABDG = AKMF, BD = 12 feet, m«D = 37°, and m4F = 24°, which of the following statements
is false?

c)f——m—éB;——l—IQ— d) DB = FK

37 | §0
a4 6|
D 4 /fA m D /IA T

For questions 6-8, solve for each Varlable

(4x + 10)°

X-3+4+ X-2+ Hx+o<I(po
bx +6=180 Ex-(0=5x+%
= Y =
3y 427 =180 X b

3, =153

IR



Given ALUV = AMAT, find the value of x and y.
L 3x-\=20 5a2+5b+

3x =3I

3r—1

(o\{ =(go

[0% + by =1%0

For questions 10-13, decide whether it is possible to prove the triangles are congruent.

If yes, mark any additional information required on the diagram, state the congruence relationship and a

postulate or theorem as a reason the triangles are congruent.

If not, write "Not = " and provide a reason why the triangles cannot be congruent.

10.
AADB & XACBD by SAS
A B
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12. AACR & ATOR by ASA
or AAS
A
X
.
14.  Given: ZP = WS 15.
LP = RS
ZP | WS

Prove: AZPL = AWSR
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16.

17.

18.

Given FRANK~VOTED, find the value of:
a. DV

64 . 32  Lyx=[536

o

b. mz0

The two triangles shown below are similar.
triangles are similar.

ARPW~ NY L B

you can use He A sun Hoorem
to defermine Yut wm LR=0/s,
you ltwow [RY [ X awd LWELB,
So fe NS are Simlar by AA

Solve for a, m, and x in the figure.

Vv
D X
O
4.8
E
y
T
Complete the similarity statement and explain why the
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3. A
a-s W\— S
IG=lda 4 =am



19.  Determine if it is possible to prove the triangles are similar. If yes, state the postulate or theorem that
can be used to prove the two triangles similar and explain how you know that postulate or theorem

works. If the triangles cannot be shown to be similar, explain your reasoning.
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20. Use the image at the right for the following:

a. Write a similarity statement
AFAR~ AFUN
b. Explain why the triangles are similar

LE & LF by reflexive
LFRA 2/ FAV by correspoding L's
=7A's' Sim[ar hy AA

c. Determine the scale factor

Either T“_('_ or —3— thependiny OB Which Way you 90

d. Solve for AR
4 _Xx 3b= Tk
7T [Gy=x)
21. Construct the polygon A = (—2,-3),B = (—1,2),C = (3,5),
and D = (3,—2). Perform the dilation of ABCD — EFGH from
the origin with the scale factor of 5/3.

A=(-2, -3) C(O —G) E




